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EXEFBANREK
(B) TAS1%E 48 18 (B) 47 24 38318
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B E® B HREHEE DHEE it MERERSIH & EAEE
FEREY T 14, 250, 000 14, 250, 000 14, 250, 000
'E B [ FHERE 869, 995 869, 995 869, 995
2 RESEBHSING 25, 166, 587 25, 166, 587 25, 166, 587
& ZHRSINE 1,075, 000 1,075, 000 1,075, 000
g EETTE 272, 300 272, 300 272, 300
e BiELINEE 683, 800 683, 800 A 94,500 589, 300
’3"? NERBRELNE 95, 198, 424 95, 198, 424 95,198, 424
0 RERUE LN 16, 415, 800 16, 415, 800 16, 415, 800
BERILY—EREFEINN 46, 430, 984 46,430, 984 46, 430, 984
Z DD IR 18,471,176 18,471,176 18,471,176
H— B R ERUREE (1) 123, 635, 642 95, 198, 424 218, 834, 066 A 94,500 218, 739, 566
ERINGET 93, 940, 063 70, 611, 245 164, 551, 308 164, 551, 308
GNET T 3, 668, 698 1,399, 787 5, 068, 485 A 94,500 4,973,985
258 15,141,975 12, 654, 365 27,796, 340 27,796, 340
BREER 11,875,548 1,536, 320 13,411, 868 13,411, 868
BHESER 637, 000 637, 000 637, 000
AR B 1,350, 056 983, 526 2, 333, 582 2,333,582
Z OB 364, 498 364, 498 364, 498
Y—EXEHEME Q) 126, 613, 340 87, 549, 741 214, 163, 081 A 94,500 214, 068, 581
H—EXEREREEQ)=(D-2) A 2,977,698 7, 648, 683 4,670,985 0 4,670,985
By [ 2RASRYSINE 53,977 1,085 55, 062 55, 062
gl': B [Zomny—E XA 578, 977 578,977 578, 977
# 2 H—EZEBSREE (@) 632, 954 1,085 634, 039 0 634, 039
| B |[xuue 52, 835 52, 835 52, 835
8| A H—EREBNEAE 6) 0 52, 835 52, 835 0 52, 835
N Y—EXEBNERERE (6)=4)-6) 632, 954 A 51,750 581, 204 0 581, 204
BEEHEE(D=0)+6 A 2,344,744 7,596, 933 5, 252, 189 0 5, 252, 189
B[ | EERSBBASINE 6, 000, 000 6, 000, 000 A 6,000, 000 0
3| ® EEEsMEEAEBERE 330, 357 355, 695 686, 052 A 686, 052 0
;,; HRIIREET (8) 6, 330, 357 355, 695 6, 686, 052 A 6, 686, 052 0
o | B |[ETEEEE - L5E 1 1 1
# | P EERSWEARER 6, 000, 000 6, 000, 000 A 6,000, 000 0
FERSMETAEBEER 355, 695 330, 357 686, 052 A 686, 052 0
HAE A 9) 355, 696 6, 330, 357 6, 686, 053 A 6, 686, 052 1
ERIERELE (10)=(8)-9) 5, 974, 661 A 5,974, 662 Al 0 AT
B LHEREAEE (D=1 +00) 3,629,917 1,622, 271 5, 252, 188 0 5, 252, 188
EARL. ERBRRUEER 12 25,000 25,000 50, 000 0 50, 000
LEEDBREE(13)=0D-(12) 3,604,917 1,597, 271 5, 202, 188 0 5, 202, 188
BR BB RELE BB R A (14) 20, 904, 130 22,006, 144 42,910, 274 0 42,910, 274
OF | LEREEEDERER (15)=13)+14 24,509, 047 23, 603, 415 48, 112, 462 0 48,112, 462
#iE EE EXEHEE(0) 0 0 0 0 0
o Z OO =R (1) 0 0 0 0 0
= ZOROELEHEILE (18) 0 0 0 0 0
= R REE DR = 24,509, 047 23,603, 415 48, 112, 462 0 48,112, 462

(19)=015+016)+17)-(18)




